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X2 : SRAISARIES] SR ARSARE] / SN - 2SS 9 Bk K] T,
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&1l 3 68 X=X =& Y
(&%) 224 199 B2 7R EFe01%) L 32 229 A% 8

gd =
o (W) Adsl = FXd W& 7IAER % 15 SUV 3
= 24| 33.0% 3713 74,769HH

O = 381%

o (@FAD) 273,

(+268.4%)2]

o (4%) #d

373t 174,964

1
=

=]

29737

71Ma3 2 Y= EV, Y= HEV &
=91] 281% Z7}13F 67,601T)
Li“«’?}MJﬁr EFIEF oA
7.3% *5‘7]'?'_1‘ 21,152‘:]]

= ol wE 71A =T
HdsYn 5322% F7hek 2,750tH

© (Bx4H4) XM3e) 2AAR A AW SR dds ]
1,347.7% %7}t 8,556TH
< 21.68 YHE & >

(SHR] : O, %)

T = 21.68 oo | TEH | TIASEH| | 21.1-6E | HIS/H|
Chi=1
g A 174,964 | 100.0 14.0 38.1 | 1,049,658 27.9
oo 74769 | 427 15.4 33.0 | 454,025 23.9
7 ot 67,601 | 386 0.4 28.1 | 432,589 404
St XA 21,152 | 121 79.2 273 | 121,657 N2.6
¥ 8 2,750 16 | A275 532.2 13,509 58.3
By 8,556 4.9 49.8 1,347.7 27,086 118.0
e - - - - - :
E}EFCH 136 0.1 47.8 126.7 792 34.9
* RR SR AR E Y
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&1 4| 68 2&E XISk SBUHT/+3)

O (%) A71%, EadsjolndE 59 @) 322 A3y
57.2% S7}3F 34,804t = #jsie] 1770 € A& S7HAE A€
* XBE SUE%) : ot0|22|E(+15.2), T7[XK+1654), E2{12I5I0|E2|=(+187.4), +2AKK+136.9)

o B3], oyl 2& AJAI} Loz d Bujyf 192 Sey
T3}, AR 2T 970 Ao g A)S

- FAAE ofol e

Y 5 EV, FYx= HE

2} EV $vuj] ST} 7]

o

-

* =0 OB THEGIEN%): ZEEV 1,554CH(+521.6%), SEV 921CH(+1,023.2%) LIZEV 1,294LH(+221.1%) &
< 21.6% FEHEX} XFE Y oS > (9] - o, %)
T 21.6Y MeHd] |[MUASHYEH | '21.1-6¥ | MEASIH|
et A 34,894 22.5 57.2 157,567 68.9
SHO| 22| = (HEV) 18,468 12.2 15.2 101,414 56.7
M 7| XHEV) 13,514 46.5 165.4 40,435 75.4
=2 Q50| EE| E(PHEV) 2,161 5.8 187.4 11,302 289.7
2= A KHFCEV) 751 A0.7 136.9 4,416 69.1
« At SHRAISAAMAH S|, SHE 4 QURIE A
O (& 2 AF £ T2 266180 (+77%) =, 62 27 g &
gA, FEFAL ¢ A F7H+352%)3 991 E 8T
O XNAFA} FE=L& AA &2 F=HF9 15.8% =HHA]
- 53], stolBg=x7l A FT7H+240%), EFEZE (U ZHEY, oto]Y
HEV 5)9] A3t 52 A ¢} A2 & 3 (FR HEV, Zets HEV) 7191
* DEE =Zh2- | |2 HEV(+17.5%), Ot0|2 Y HEV(+95.5%)
o FEFAL SO|HIYERI} E Fow FIH+H01%)3H 99 E A
H| 2 AA 82 =99 222% A

"20.62 67E — 2162 9UE / TV| - K} 105%43218), SIOIER|E 929437218, PHEV 25%1.0248)

< '21.6-5l thl'yéxl' xI'chi_uE:l '?'% °12I‘ > (EFS] - T %)

T = 21.6% HEgH| | HEZHEH | '21.1-6H | HASIH|
ot Al 26,618 A3.2 7.7 172,921 37.1
SHO|E 2| E(HEV) 11,108 A18.7 240 91,217 63.3
M I|XHEV) 11,689 8.7 A12.5 62,574 13.9
E2{QI510| 22| E(PHEV) 3,760 27.5 73.1 18,401 25.9
2= XHFCEV) 61 A57.0 N73.7 729 7.0

* K2 SHRAS XIS S

_14_



&1 5| 63 AME XISXI =W TIH o
< 21.68 MY XtSAt I THOj A >
(2%l - T, %)

= = '21.68 M| HMAdS 3| H| =S 21.1-6¥ s R

e Al 165,759 9.3 -19.4 100.0 910,904 -2.1
& i 68,407 10.2 -18.3 41.3 386,095 0.4
7| ot 49,280 2.9 -17.9 29.7 278,384 0.0
Sh= X| 5,740 24.9 -38.6 3.5 33,160 -19.3
4“4 8 5,724 15.5 -41.3 3.5 26,625 -34.8
2L AN 5,610 21.0 -59.0 3.4 28,840 -47.8
EtEICH 9 736 11.9 128.6 0.4 3,243 89.5
Mercedes—Benz 6,828 -11.2 -11.0 41 42 170 16.0
BMW 6,502 3.9 59.8 3.9 36,261 42.6
Audi 1,848 707.0 —45.7 1.1 10,798 7.2
Volkswagen 1,667 22.8 27.4 1.0 8,752 18.2
Volvo 1,451 14.8 30.7 0.9 7,629 16.9
MINI 1,197 9.3 -8.0 0.7 6,174 12.7
Jeep 1,134 2.2 -18.1 0.7 5,927 40.8
Lexus 1,055 4.8 4.0 0.6 4,868 35.83
Porsche 967 14.2 2.9 0.6 5,365 22.7
Toyota 710 13.4 6.8 0.4 3,217 14.7
Ford 689 5.2 -1.7 0.4 3,584 -0.5
Honda 305 -24 1 134.6 0.2 1,687 16.1
Land Rover 258 166.0 -16.5 0.2 1,420 -40.1
Lincoln 237 -24.0 -24.5 0.1 2,125 57.4
Peugeot 228 17.5 -35.4 0.1 1,076 -14.4
Cadillac 77 41 —45.4 0.0 502 -24.3
Maserati 76 16.9 20.6 0.0 405 1.5
Bentley 61 8.9 0.0 0.0 208 49.6
Citroen 34 0.0 -70.2 0.0 225 -60.7
Lamborghini 30 -6.3 42.9 0.0 180 32.4
Jaguar 24 200.0 —44 2 0.0 233 -40.3
Rolls—Royce 24 4.3 33.3 0.0 124 61.0
Infiniti - -100.0 0.0 - -100.0
Nissan - -100.0 0.0 - -100.0
Tesla 4,860 40.4 71.9 2.9 11,627 64.2
= &K} 134,378 8.5 -23.2 81.1 749,988 -5.5
AKXt 31,381 12.5 2.3 18.9 160,916 17.7
T N S=AtsAtU YD, ot UX SR
=APXE - 2l 7|0f, Sh=X|Y, &, 2o, EtEIIIR
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&1 6| 6 HHME SEX =l T Hg
< 21.68 GHME SEX ZLHEO) g >
(9] T, %)

S '21.6¥ &1 2H| M S| H| = 21.1-6¥ Sl =2 H|

e A 142,445 7.4 -22.7 100.0 785,788 -3.6
oo 52,092 6.9 -24.7 36.6 303,058 -1.3
7| o} 43,077 -0.2 -20.4 30.2 243,446 -1.3
ek x| 5,726 34.6 -34.6 4.0 29,685 -22.1
&4 = 5,724 15.5 -41.3 4.0 26,625 -34.8
2 AN 5,564 21.5 -58.9 3.9 28,417 —-47.7
Mercedes—Benz 6,828 -11.2 -11.0 4.8 42,170 16.0
BMW 6,502 3.9 59.8 4.6 36,261 42.6
Audi 1,848 707.0 -45.7 1.3 10,798 7.2
Volkswagen 1,667 22.8 27.4 1.2 8,752 18.2
Volvo 1,451 14.8 30.7 1.0 7,629 16.9
MINI 1,197 9.3 -8.0 0.8 6,174 12.7
Jeep 1,134 2.2 -18.1 0.8 5,927 40.8
Lexus 1,055 4.8 4.0 0.7 4,868 35.83
Porsche 967 14.2 2.9 0.7 5,365 22.7
Toyota 710 13.4 6.8 0.5 3,217 147
Ford 689 5.2 -1.7 0.5 3,584 -0.5
Honda 305 24 1 134.6 0.2 1,687 16.1
Land Rover 258 166.0 -16.5 0.2 1,420 -40.1
Lincoln 237 -24.0 -24.5 0.2 2,125 57.4
Peugeot 228 17.5 -35.4 0.2 1,076 -14.4
Cadillac 77 41 -45.4 0.1 502 -24.3
Maserati 76 16.9 20.6 0.1 405 1.5
Bentley 61 8.9 0.0 0.0 208 49.6
Citroen 34 0.0 -70.2 0.0 225 -60.7
Lamborghini 30 -6.3 42.9 0.0 180 32.4
Jaguar 24 200.0 —44 2 0.0 2383 -40.3
Rolls—Royce 24 4.3 33.3 0.0 124 61.0
Infiniti 0 -100.0 0.0 0 -100.0
Nissan 0 -100.0 0.0 0 -100.0
Tesla 4,860 40.4 71.9 3.4 11,627 64.2
Z AKX} 111,110 6.1 -20.9 78.0 625,295 0.0
oA Xt 31,335 12.6 -28.5 22.0 160,493 -15.3
fE N SAXNEAMYES, SR YR EX DY
x ZAKL L), 7|of SHRA|Y, A, 2 A (5THAN
SPEN| B Of BEEXZ 0l CHotd XtMIEH LHES JGHAIE MBS HNIAE NSt

2342l BRNNE N0 Ol & F=22(044-203-4323) Ofl Hl A== A1D| BHEFLIC.
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